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Answer ALL questions.
PART A —- (10 x 2 = 20 marks)

1.  What do you understand by a protocQI.

2. Define a subnet.

3. Diffqrenfiate: TCP and IP protocol.

4.  List the components of a protocols.

5. What do you mean ‘by finite state machine?

6. Comparé: Point to point and broadcast net§vorks.
7. Define collision.

8.  Differentiate: compiler and interpreter.

9.  Define scalability.

- 10. What do you mean by re — synthesis?




[image: image2.png]11.

12.

13.

14.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

PART B — (5 x 16 = 80 marks)

Dravws and explain tile Architecture of OSI/ISO 7 layer reference model in
detail. E .

Or
Describe the following:
(i) Protocol development methods ' (8)
(i) Protocol engineering process. ' 8
Elaborate on the following:
(i) Specifications of communication service. : (8
(i1)) Multimedia protocol. (8)
Or '

Examine the effectiveness of:
(i) SDL and SDL based protocols. 8
(i) Protocol specification languages. (8)

What is meant by protocol verification? Explain the process of

- verification of a protocol using finite state machines.

Or
(i) Discuss SDL based protocol verification and validation. - (10)
'(ii) Write a detailed note on protocol design errors. . (6)

Critically examine the following with reference to conformance testing:

(i) Methodology and frame work. (5)

(i) Test architecture. (5)

(@ii1) 'I‘es t sequence generation method. (6)
Or

Present the detailed descriptions on:
(1) SDL based conformance testing of MPLS performance testing. 5)
(ii) SDL based performance testing of TCP and OSPF. 5)

(iii)) SDL based interoperabiﬁty testing of CSMA/CD and CSMA/CA
protocol using bridge. 6)
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(1) Interactive synthesis algorithm. | 6)
(i1) Automatic synthesis algorithm. _ ’ (6)
(iii) Automatic synthesis of SDL fofm MSC. 4)

Or

(b) () State and explain the requirements of protocol implementation. (6)

| (i) Depict in detail the object‘ based approach to protocol
| implementation. (10)
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